JE &% — RRBRIL
W TR AATHIE T

CHELIC.

C A EEE

d
|

=i

T

C RBR
BE B wm| @12 | @16 | @20 | @25 | @32 | @40 | @50 | @63 | @80 | @100
fEENZ BENR
fEFRmEE =R
Ekity FA-FB-~CA-CB:LB
FEAENGEE  koflom® kPa) | 2~7 (200~700) |  1.5~7 (150~700) | 1~7 (100~700)
ERRE °C 0 ~ 60
EREE mmis 50 ~ 500 [50~350] 50~ 250
HEME $HE®
BEXRE SRBEE
BB Bt
o & M5x0.8 \ PT1/8
WAREE aega]
ZHTR mm 2550 75+ 100 ~ 125 + 150 175 ~ 200 ~ 250 ~ 300 ~ (350 ~ 400 450 ~ 500)
C FTRETBIE(CR
C E H(C s HxC 10 H-C B H-C B H-C Y H-(Cso| 2)
e | [ g | [ meFs | | zgeeg | [wsezemied] | BESBE |
12 - @12 mm @12 — 25~ 100mm
16 — @16 mm @16 — 25 ~ 100mm /’> W‘:“
20 — @20 mm @20 — 25 ~ 100mm \/’
25 - @25 mm @25 - 25 ~ 100mm < BZ 80D 53
32 - @32 mm @32 — 25 ~ 500mm < ] —
40 — @40 mm @40 - 25~ 500mm | #EE0EE : BRI S [SD: BmEssacss
50 — @50 mm @50 — 25 ~ 500mm ! (CS-9D)
63 - @63 mm @63 — 25 ~ 500mm [2]): mresHE
80 - @80 mm @80 — 25 ~ 500mm 101 B
100 — @100 mm @100 — 25 ~ 500mmd 2 12 {ARkESS
(EH)
EAABETIZ: 500mm s
(B]: atsshF

6-3.99

(JEKRBERREE)




JE &% — RuBRI (FE£R)

SMBERRT cHELIC
O JE 912~ @25 @)
D)) JE12x I ST
NA
BRI REL
CHFERR~
NA2
Z—x0 J\EY
D A+ 1752 c3 9% FF AT
c1 B+ 1772 c2 C1 NB
\ [
! BRZFSREL
‘5}, w|l o S| @- @\ @ SERERH
2-J
—
\/ ND
ZERREL
4L i 6 ‘ ‘ G
F F NQ
ZERREL
% MSI
si@~ |A|B|Cl1|C2/C3 D | E|F|G | H|I J K1 K2 L M | rmsrs
@12 |40 | 35| 5 | 10 | 15 |27.5| 16 |105 4 | 6 | M5x0.8P | M3x0.5P | M5x0.8P | M4x0.7P | 5
216 |40 | 35| 5 |12 |17 |29 | 18 | 11 4 | 8 | M5x0.8P | M4x0.7P | M6x1.0P | M4x0.7P | 7
@20 |43 |37 | 6 | 16| 22 [355| 22| 12 |65 | 4 | 10 | M5x0.8P | M6x1.0P | M8x1.25P | M5x0.8P | 9
@25 |45 |39 | 6 | 16 | 22 [395| 26 | 12| 6 | 4 | 10 | M5x0.8P | M6x1.0P | M8x1.25P | M5x0.8P | 9
AEREL
C JE @32~ 3100
) JE32x ST JD
AR
CHFERR~
JG
A+ 1752 c3 32?%;%@
E c1 ‘ B+ {7%2 c2 c1
© < —— - 51D
= A A __ A pa
, — — i ARRE
2 wl e @i s D s, & \;
N, JTE
N2 AL
1@ @ K2 AREREL
K1 wle| | | e JCB
- | R
4- F ‘ ‘ F BB
- -~ et
JCF
% SR
s~ | A| B |c1|c2|c3| D | E|F |G |H|I J K1 K2 L M| G
232 50 | 44| 6 | 19| 25| 47 |325 15 | 85 | 4 | 12 | PT 1/8" M8x1.25P | M10x1.25P| M6x1.0P | 10 | [ =
240 51 45| 6 | 19| 25 |545| 38 | 15 | 8 | 4 | 12 | PT 1/8" |M8x1.25P |M10x1.25P | M6x1.0P | 10 |  mones
@50 53 | 45 | 8 | 22| 30 |655|465| 15 | 75 | 6 | 16 | PT 1/8” [M10x1.5P |M12x1.25P | M8x1.25P | 14
263 57 | 49 | 8 | 22 |30 |755|56.5| 15 | 7.5 | 6 | 16 | PT 1/8” [M10x1.5P | M12x1.25P | M8x1.25P | 14 | | jut
@80 63 | 54 | 9 | 28|37 |955| 72 |165] 8 | 7 | 20 | PT 1/8” |M12x1.75P| M16x1.5P | M10x1.5P| 17 | | mma
@100 | 76 | 67 | 9 | 28 | 37 (1135 89 215|105 7 | 20 | PT 1/8” |[M12x1.75P| M16x1.5P | M10x1.5P | 17

6-3.100



JED A%l — RFRBRIL ( M#E )

SMEREIRRT CHELIC.
O JED @12 ~ @25 (©) sep 125 8T
CHFERFR~T
D A+ (17F2x2) (o%]
E c, B+ 1772 C1+iTR2 c2 | ci
,3,, Ll w| o S 5“/‘\—--’—/ -;LI-\;-“ ;;; = A ;;K fh\ %
T 8 W Ur/\ @— = K"r/
| N . %
/
4t H|| G ‘ ‘ G
~F] -F.|
%
§I1@ A|lB|ci1|/c2|c3| D E|F |G| H|I J K1 K2 L M
@12 | 45 35| 5 | 10 | 15 |275| 16 |105| 6 | 4 | 6 | M5x0.8P | M3x0.5P | M5x0.8P | M4x0.7P | 5
@16 |45 | 35| 5 |12 |17 | 20 |18 ] 11 | 6 | 4 | 8 | M5x0.8P | M4x0.7P | M6x1.0P | M4x0.7P | 7
@20 |49 |37 | 6 | 16 | 22 |355| 22 | 12 | 6 | 4 | 10 | M5x0.8P | M6x1.0P | M8x1.25P | M5x0.8P | 9
@25 |51 |39 6 | 16 | 22 |395| 26 | 12 | 6 | 4 | 10 | M5x0.8P | M6x1.0P | M8x1.25P | M5x0.8P | 9
C JED @32 ~@100
JED32xC|ST
CHFEFERT
A+ (452X 2) c3
c1 ‘ B + 1712  C1+17%2 c2 C1
\
s < e I R e
a =
D wla a a m m %ﬂ = % m
=D S (i ,‘/(\ ) S /NG
& 2 K2 /
i
H| G ‘ G
4L F F
(%7
- A|lB|ci|lc2|c3| D | E|F |G I J K1 K2 L M

@32 56 | 44 19 | 25 | 47 | 325| 15 | 85 12 | PT 1/8” |[M8x1.25P |M10x1.25P | M6x1.0P | 10

240 57 | 45 19 | 25 | 545 | 38 15 8 12 | PT 1/8” |M8x1.25P |M10x1.25P | M6x1.0P | 10

250 61 | 45 22 | 30 | 655|465| 15 | 7.5 16 | PT 1/8” [M10x1.5P |M12x1.25P | M8x1.25P | 14

263 65 | 49 22 | 30 | 755|565 | 15 | 7.5 16 | PT 1/8” |[M10x1.5P |M12x1.25P | M8x1.25P | 14

280 72 | 54 28 | 37 |955| 72 |165| 8 20 | PT 1/8” [M12x1.75P| M16x1.5P | M10x1.5P | 17

©|lo|lo| ol oo
N N|lo|o|l~s I

2100 85 | 67 28 | 37 |113.5| 89 |21.5|10.5 20 | PT 1/8” [M12x1.75P|M16x1.5P | M10x1.5P | 17

6-3.101



JEK &% — BHUKE (ZER)

SMEERR T CHELIC
©C JEK @32 ~0100
A+ 1TR
B + 7R
D1 C1 o
)
5 - B0 © mE
W 24
£
X —
K1
2R () | 62
et
2-S(E) c3
Cc2
—|— T :
of 5 & i
- —
> H O
f =\
Qmy || N
K2 S !
o 2 g
—— —— I
F1
AR EY X358 A | B |C1/ C2 C3 D1 D2| E F1|F2 |G1 G2 H| I J K1
32 65 | 59 | 6 | 19 | 25 | 48 | 47 |32.5| 30 | 15 |21.5/8.5 |4 | 12 |PT 1/8| M8x1.25
40 66 | 60 | 6 | 19 | 25 |55.5 |54.5| 38 | 30 | 15 | 23 | 8 |4 [12 |PT 1/8| M8x1.25
50 68 | 60 | 8 | 22 | 30 | 66.5|65.5/46.5| 30 | 15 |22.5/7.5 |6 | 16 |PT 1/8| M10x1.5
63 72 | 64 | 8|22 | 30 |76.5|75.5|56.5| 30 | 15 |22.5/7.5 |6 |16 |PT 1/8| M10x1.5
80 80.5|71.5| 9 | 28 | 37 |96.5|95.5| 72 | 34 |16.5|25.,5| 8 |7 |20 |PT 1/8| M12x1.75
100 94.5|85.5| 9 | 28 | 37 |114.5/113.5] 89 | 40 |21.5/29.5/10.5| 7 | 20 |PT 1/8 | M12x1.75
AR ES K5 K2 L M N | O P | Q R S
32 M10x1.25 | M6x1.0 | 10 | 35 | 20 | 25 | 10 | @5.158%L,M6x1.0Px15dp | @5.1i@Fl.,M6x1.0Px15dp
40 M10x1.25 | M6x1.0 | 10 | 37 | 20 | 32 | 10 | @6.85%L,M8x1.25Px20dp | @6.8i#@F|,,M8x1.25Px20dp
50 M12x1.25 | M8x1.25 | 14 | 45 | 20 | 35 | 10 | @6.85®7L,M8x1.25Px20dp | @6.8i@Fl,,M8x1.25Px20dp
63 M12x1.25 | M8x1.25 | 14 | 55 | 20 | 50 | 10 | @6.85&%L,M8x1.25Px20dp | @6.8i#EF|,,M8x1.25Px20dp
80 M16x1.5 |M10x1.5 | 17 | 68 | 22 | 55 | 10 | @8.558%L,M10x1.5Px25dp | @8.5i@F|,,M10x1.5Px25dp
100 M16x1.5 |M10x1.5| 17 | 85 | 26 | 75 | 14 | @8.558%L,M10x1.5Px25dp | @8.5:@F|,,M10x1.5Px25dp
6-3.102

NA
[ &kl

NA2
/N
[o kil

NB
Bk pERY
[o kil

NU
SEREH

NQ

ZELRH

MsSI
/NELR BT

JG

BiIERHEER
BRI

JTD
picgd
HERH

JTE
BigR
AR

JCB
R
BERET
(RIER)
JCE
R
HER
(AR

JE
FRRIRAT

JM
I



